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ACCOUNTANCY AND BUSINIESS STATISTICS - 11

[Business Statiatics|
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fime allowed : Three Hours T - Maximum Marks : 100
Apempt any five questions in qll selecting one question from each wunilt.
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No supplementary answer-book will be 8iven to any candidate, Hence the candidates should write the answer
precisely in the main answer book only.
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All the parts of one question should be answered at one place in the answer-book. One complete question should
not be answered at different places in the answer-book,
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Write your roll number on question paper before start writing answers of questions.
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UNIT -1 /3hTE - I

ﬁ. (a) “Statistics are numerical statement of facts but all facts numerically stated are not statistics.” 10

Clarify this statement.
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(b) Differentiate the following : 5+5
3 4 s e Fifed
(1) Census method and Sampling method,
mor fafy a1 fagefa fafu
(i1) Primary and Secondary data.
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(@)  Convert the following chmulative frequencies to simple frequencies ; 5
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UNIT - IV / 5&T§ - 1V
Define regression. How does it differ from correlation ? Deseribe utility of regression.
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UNIT <111/ gmrd - 11

Two ericketers A and B scored the following runs in several innings. Find wheo s @ batter run-scorer Z0
and who 18 more conuistent player ?
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6. What 1s Skewness ? How does it differ from dispersion ? What are the vanous methods of me 1EUnng

skewness ? sk,
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The competitors in a music contest are ranked by three judges in the following order. Use rank
correlation @&ff,,_-,‘em t0 discuss which pair of judges has the nearest approach to common test. 5+3+5+3
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9. From the following data prepare cost of living Index by aggregativ
Budget method.
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Quantity ? Price in ¥ | Prjce in T
Articles  |consumed Unil 2015 2016
in 2015
[Rice 4 Quintal _[Per Qtl. Vi | 50 80
Wheat 1 Quintal [Per Qtl. 40 70
0il |10 kgs Per kg 300 600
Ghee [4 kgs Per kg i 10
Sugar 4 kgs Per kg 1 1.6
gulses |2 kgs |Per kg 40 )
Clothing  [5 meter IPer nmeter G 10
House ’
Rent 1 (one) Per flat 0N | w15
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10.  From the following data estimate the number of workers earning between ¥ 90 and 9.
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[Earningin¥ | 30-60 | 60-90 [ 50- 120 [120- 180
[No. of Worker | 100 93 S| IEh
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